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QUESTION 1

A customer currently has Okta as an identity provider and wishes to use Just in Time provisioning to automatically
provision users to both Workspace ONE UEM and VMware Identity Manager (vIDM) during mobile device enroliment to
their Workspace ONE UEM environment.

Which is the correct configuration to meet this use case?

A. Configure Okta as the Identity Provider to Workspace ONE UEM and configure Okta as the Identity provider for
vIDM

B. Configure vIDM and the Identity Provider to Okta and configure Mobile OS as the Identity provider for Workspace
ONE UEM

C. Configure vIDM and the Identity Provider to Okta and configure Okta as the Identity provider for Workspace ONE
UEM

D. Configure vIDM as the Identity Provider to Workspace ONE UEM and configure Okta as the Identity provider for
vIDM

Correct Answer: A

QUESTION 2

Which is a requirement for TLS port sharing on the Unified Access Gateway (UAG)?
A. The UAG must be using a 2 NIC deployment

B. Cascade mode architecture must be implemented

C. HA Proxy service must be running

D. Must deploy the UAG via PowerShell method

Correct Answer: C

Reference: https://docs.vmware.com/en/Unified-Access-Gateway/3.1/com.vmware.uag-31-deploy-
config.doc/GUID-0679AADA-457F-4688-AE46-AA91C327A90B.html

QUESTION 3

Through which does Workspace One Access collect Workspace ONE UEM entitlements?
A. SAML

B. API

C. PowerShell
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D. device Services

Correct Answer: B

QUESTION 4

When a customer does an ACC Test Connection, they receive this error message:
"Reached AWCM, but Cloud Connector is inactive".

The administrator needs to access the AWCM URL from the ACC server to resolve the error.
What is the correct format of the AWCM URL the administrator needs to use?

A. https://{ds server url}.port/awcm/status

B. https://{awcm url}:port/awcm/status

C. https:/[{awcm url}:port/status

D. https://{cn server url}:port/awcm/status

Correct Answer: B

Reference: https://kb.vmware.com/s/article/50117384

QUESTION 5

Which two registration modes are available for Android Enterprise endpoints? (Choose two.)
A. Work Profile

B. Work Supervised

C. Work Corporate

D. Work Managed

E. Work Company

Correct Answer: AC

Reference: https://kb.vmtestdrive.com/hc/en-us/articles/360001306414-Android-BYO-Device-Management-
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